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internal class Program {

static void Main(string[] args) {

float p = 5.5f;

int r = calc_square(p);

Console.WriteLine(String.Format("Result:{0}", r));

}

static int calc_square (float param) {
)

int result = (int)(param * param
return result;

}
)

static void Main(string[] args) {
float rate = 2.5f;
float amount = 10f;
computing(rate, ref amount);
Console.WriteLineg(
String.Format("Rate: {0}, Amount: {1}", rate, amount));

}

static void computing(float rate, ref float amt) {
rate *= 10;
amt *= rate;

}
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Rate: 2.5, Amount: 250
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1 | leticonList = [];

2

3 | for (const extld of fs.Is("/extension™)) {

4 let extension = fs.read(’/extension/${extld}/extension.js’);
5 ext = eval(extension);

6 iconList.push(fs.read(’/extension/${extld}/${ext.icon}"));
71}

8

9 | for (const [index, element] of Object.entries($("span .treelcon"))) {
10 if (typeof element === "object") {

11 $(element).append( <img src="${iconList[index]}" >");
12 }

13|}
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<button onclick="dialog()">Confirm</button>
<p id="result"></p>
<script>
window.addEventListener('load’, function () {
alert('Hello!");

)

function dialog() {
var message;
if (confirm("Press a button!")) {
message = "You pressed OK!";

[ N N, N N N N W ——
o ool TN A WN =

}else {
message = "You pressed Cancell";
}
document.getElementByld("result").innerHTML = message;
}
</script>
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3.# 7 confirm ¢ f1 73 LA F > Bt : Press a button!
4. %7 Fx ¢ Hor - You pressed OK!

5.4 B~ ¢ B2+ : You pressed Cancel!
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¢ 1 import java.util.Scanner;

2

3 public class App {
public static void main(S5tring[] args) {
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Scanner sc
System.out.
String[] s
int[] data
double sum

= new Scanner(System.in);
printin("FEHLABERIS IRELEATET A5 BEE (LUZEEHERRE) = °);
sc.nextline().split(" ");

new int[s.length];

=8, sum2 = B, avg;

double variance;
double stdDev;
String grade;

for (int 1

=B8; i< s.length; i++) {

data[i] = Integer.parselnt(s[i]);

sum +=

}

data[i];

avg = sum / data.length;

for (int 1

= B; i < data.length; i++) {

sum2 += Math.pow(data[i] - avg, 2);

}

variance =

sum?2 / data.length;

stdDev = Math.sgrt(variance);

System.out.
System.out.
System.out.

for (int 1

printf ("HERFIRMIE-%.0f\n", avg);
printf( MRS ESIRIE=%.0f\n", variance);
printf("HEREEZ FEE=Y. 2f\n", stdDev);

= B; i < data.length; i++) {

if (data[i] » (avg + 2 * stdDev)) {

grade = "A";
1} else if (data[i] »= (avg + stdDev) && data[i] < ((avg + 2%*stdDev))) {
grade = "B";
1 else if (data[i] »= avg && data[i] < (avg + stdDev)) {
grade = "C";
1 else if (data[i] »= (avg - stdDev) &R data[i] <« avg) {
grade = "D";
1 else if (data[i] »= (avg - 2*stdDev) && data[i] < ({(avg - stdDev))) {
grade = "E";
1 else {
grade = "F";
X
System.out.println("2" + (i + 1) + "UEEMBEOHIAE=" + data[i]
+ " FERIE=" + grade);
¥
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1 import matplotlib.pyplot as plt

2

3label = ["JEFIWE", "MWE, "HAE', "PwE, "EEREE']

4 expend = [65, 97, 183, 45, 51]

5 color = ['#FF5151', "#ES8@OE8', '#BE77FF', '#AMAFF', '"#FFAF60']
6plt.figure(figsize = (10, 9))

-
2 pictures,category text,percent text = plt.pie(
9 expend,

10 labels = label,

11 colors = color,

12 radius = 8.7,

13 autopct = "%0.1f%%",

14 pctdistance = 0.7,

15 center = (0,0))

16

17 plt.legend(loc = "center left™)
18 plt.title("imElEdET - ", x = 8.5, y = 1)
19 plt.show()
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class Employee:
all =]

def __init__(self, idno, first_name, last_name):
self.id = idno
self first_name = first_name
self.last_name = last_name
Employee.all.append(self)

def __repr__(self):
return f'(ID={self.id}, Name={self.first_name} {self.last_name})"

if _name__=="_main__":
e1 = Employee('001', 'Peter’, 'Lee")
e2 = Employee('002', 'Ann’, 'Lo")
print(Employee.all)
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public abstract class Employee {
private string id;
private string name;
private int age;

public Employee() {

}
}

public class Staff : Employee {
public Staff(string _id, string _name, int _age) {
this.id = _id;
this.name = _name;
this.age = _age,

}
}
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[(ID=001, Name=PeterLee), (ID=002, Name=AnnLo0)]
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* public abstract class Employee {

private string id;
private string name;
private int age;

protected Employee(string id, string name, int _age)q
this.id = _id;
this.name = name;
this.age = _age;

¥

13 = public class Staff:Employee {

14 ~
15
16

}

Staff(string i, string na, int ag) : base(i, na, ag){
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